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1. IR W T H IRT 9IS TN BN
CIRIICTRINI

(A) 2, 43I
(B) RMNIH

(C) TgwiN

(D) 2, 4-SI&!

2. M- @y & Yd WAN BN el
RICIKI
(A) SEHET
(B) TggANIer
(C) TR
(D) (B) ¥R (C) A
3. WRd H wWeaRl FEffed § W fhw
JfRfRE & qed Ul §
(A) IR TSHROT A=A
(B) WICARIG 3ffe+aH, 1968
(C) TIfaRor Hifd, 2005

(D) YR &N XERA TSIHR
RIBIERE|

AGRON-5003 (3)

Commonly used post-emergence

herbicide in wheat is :

(A) 2,4-D

(B) Simazine

(C) Atrazine

(D) 2,4-DB

Which is the pre-plant applied herbicide ?

(A) Diquat

(B) Fluchloralin

(C) Alachlor

(D) Both (B) and (C)

In India herbicides are registered under
which of the following Acts ?

(A) Herbicide Registration Act

(B) Insecticide Act, 1968

(C) Environment Policy, 2005

(D) Indian Agrochemicals Registration

Act

Set-D



4.

TR 4 Rerd WRIEd) @) TR

(A) T 3if6 HiY 10 e
(B) s Rud

(C) drs wred

(D) dIS TRITCST U0 HAofe

g & WA H g BT AF B ST B
frifea o & SIF-91 31fdre Sugad & ?

(A)  ITEIIIEI
(B) USIfAedH

(C)  Iethl-HegR I

(D) AT~

Ihdl WRAJIR e
g |
(A) TRUGIR Sid 959 | M

(B) TRUMIR FAEI I U TR Faeror

(C) el 3T ¥ Ugel VRUGAR febTel]

(D) ST W

AGRON-5003
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The official peer-reviewed Journal of the

European Weed Research Society is :

(A) Journal of Crop and Weed

(B) Weed Research

(C) Weed Science

(D) Weed Biology and Management

Which of the following is more suitable
for control of Phalaris minor in wheat

field ?

(A) Isoproturon

(B) Pendimethalin
(C) Sulpho-sulphuron

(D) Methabenzathiazuron

Successful weed management is based

on:

(A) Knowledge on weed biology

(B) Survey on the nature of weed
problem

(C) Removal of weeds before flowering

(D) All of the above

Set-D



7. “Uferamiely we fohgas gr fear o ? 7.  The term ‘Allelopathy’ was given by

whom ?
(A) IgUTed (A) Jaypal
(B) Hiferar (B) Molisch
C) ¥ T (C) de Condolle
(D) SHPECH (D) Democritus

8. ffaRed & ¥ @9-d1 wumHe 8. Which one of the following is a non-

selective herbicide ?

G & ?

(A) I (A) Paraquat
(B) TeldeiR (B) Alachlor
(C) eIFIR (C) Butachlor
(D) TgTSI (D) Atrazine

9. 3fSyT AR 3% die Aisd & IAUd 9.  Who was the founder Secretary of Indian

AT @ o ? Society of Weed Science ?
(A) Sl TH & qar (A) Dr. M. K. Moolani
(B) . 3R &. Afcld (B) Dr.R. K. Malik
(C) S . UH. 9 (C) Dr. V.M. Bhan
(D) . 3R T, WRIal (D) Dr.R.S. Paroda

AGRON-5003 (5) Set-D



10.

11.

12.

12 TICR T I Had § fosHE He
& foly JFelTaadR 50% S B AT foheil
& (T8 AWQ A 1.5 kg Afhg uarel g
YA 8) 7

(A) 18 fom.

(B) 54 fam.
(C) 36 foum.

(D) 12 fom.

TIFR € U

(A) PR WERUJIR

(B) Ufeod WRUIR

(©) (A) 3R (B) <
(D) Suga H A Bl 7Tl
SAGRl FT THRIM 8 -
(A)  sffecferar

(B) Toilel

(C) ¥Rd

(D) M

AGRON-5003
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10.

11.

12.

What is the amount of alachlor 50% EC
for spraying 12 ha. maize crop (when

recommended dose is 1.5 kg a.i/ha) ?

(A) 18kg

(B) 54kg

(C) 36kg

(D) 12kg
Argemone mexicana is a/an :

(A) Obligate weed

(B) Facultative weed
(C) Both (A) and (B)
(D) None of the above

Water hyacinth is a native of :

(A) Australia
(B) Brazil
(C) India

(D) China

Set-D



13.

14.

15.

o

UHIad WRUAAR FE=I0T &7 7ded © :

(A) =@ g

(B) YNNG fafdr

(©) Jfis fafy

(D) & J e faftdl @ Sy
PR TRUAIR D RIIT BRAT

2, 481 IE & forg yordY B & 99 39

R e e & -

(A) q@rE & 15 & 918
(B) darg & 20-25 fa @18
(C) d@rs & 25-30 fa 918
(D) q@1s & 45-50 fa 918

WRUTAR & TH 9N B R dTel
MAHRN & WY § ST ST @

(A) TFADHCE T8y
(B) TITTHSG <I3U
(C) JUB-TeN TI8y

(D) IR-IITHSB <Y

AGRON-5003
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13.

14.

15.

Integrated weed control means :

(A) Mechanical control

Chemical control

(B)
(©)

Biological control

(D)

Control weeds by using more than

one method

2, 4-D is effective to wheat when it is

applied at :

(A) 15DAS

(B) 20-25 DAS

(C) 25-30 DAS

(D) 45-50 DAS

The herbicide that kills the contact part of

weed is known as :

(A)

Translocated type

(B) Selective type

(C) Contact type

(D)

Non-selective type

Set-D



16.

17.

18.

fefeiad § 9 “@RUdaR fad’ @ O
P & ?

(A) Sl UL T

(B) WIeRI T

(C) K

(D) fiexr 3 fommolt

fefoled § 9 @9 @ RO
ERYAARATN T8 & 7

(A) Tl

(B) SR

(©) W@

(D) TgMIN

Wl WIS 98 qheild WRUTAR F=01 6
for fafer @ Fela oMl & ?

(A

(B) =& fafg

(C) I fafg

(D) SUYa H A Bl 7l

AGRON-5003
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16.

17.

18.

Who is the father of “Weed Science’ ?

(A) O.P.Gupta
(B) Jethro Tull

(C) Aristotle

(D) Pietro de Cerscenzi

Which one of the following is not a
selective herbicide ?

(A) Alachlor

(B) Butachlor

(C) Paraquat

(D) Atrazine

Stale seed bed technique of weed control

comes under which method ?

Cultural method

(A)
(B) Mechanical method
Chemical method

(©)

None of the above

(D)

Set-D



19.

20.

21.

fFfoiad & 9 ®H-91 WRUGaR I
@ Rigr el 8 ?

(A) AHAH

(B) =

(C) S
(D) T W FRIE

Fretfoied 3 9§ pi-a1 sie W) gk
T2

(A) DHEET IR — 2, 4, 521

(B) IRAT — STFHICH

(C) TREriEs — erdir

(D) grEgelg — g

Reifeq @RudaR B & -

(A) U6 & B9 & ©d H I 5 @
SIES

(B) BUA & WA H o B B Ul

(C) B9 & Wd H A WRUAIR

(D) ST T

AGRON-5003

(9)

19.

20.

21.

Which of the following is not a principle

of weed control ?

(A) Prevention
(B) Control
(C) Eradication

(D) Hand weeding

Which one of the following pairs is not

correctly matched ?

(A) Phenoxy Acid —2,4,5-T

(B) Urea— Isoproturon

(C) Acetamide — Butachlor

(D) Triazines — Dinoseb

Relative weeds are :

(A) Plants of same crop but other

variety in the field

(B) Plants of other crop in the crop

field

(C) Seasonal weeds in the crop field

(D) All of the above

Set-D



22.

23.

24,

25.

AGRON-5003

ARSI Togd 69 g $1 WRUAAR
g ?

(A) W% *g

(B) I %g

(C) s *xg

(D) (A) 3R (B) T

qadT H ARG SN fhar S arer
GRYAARAT

(A) TSI

CIAEIEEIN

(©) R

(D) o

Fe[FeRITer &1 3 M 8 :
(A) =T

(B) e

(C) HIA

(D) A

fy=forRad & 4 @9 ¥ U6 WRUGIR F
SR ¥R el © ?

(A) <TTHl DRI

(B) 9Ll

(C) el &R

(D) ST oE

(10)

22.

23.

24,

25.

Chenopodium album is a weed of :

(A) Kharif season

(B) Rabi season

(C) Zaid season

(D) Both (A) and (B)

Most common herbicide used in Maize
IS :

(A) Atrazine

(B) Alachlor

(C) Simazine

(D) Metribuzin

The other name of Fluchloralin is :
(A) Lasso

(B) Basalin

(C) Machete

(D) Saturn

Which of the following weeds is not a

native of India ?

(A) Lantana camera
(B) Chenopodium album
(C) Zizyphus spp.

(D) Avena fatua

Set-D



26. TRUMAR fag srgde Mowmerd Rerd
T
(A) VAR A
(B) WU H
(C) fowelt ®
(D) FAA H
27. Ffafed § 9 o9-W 16 BRUGIR T4
e Bl Slel Wl GAferd T8l & ?
(&) Rgm — R
(B) HEHST — o
(C) TREW — T
(D) 3RIgdH — THIG,
28. UM @ Wd H U U WM drell e
GRUTIR B :
(A) Tmferd mdfra
(B) SdrgIdeldl Hevilel
(C) TR/ WIEAad
(D) WellR® AIER
AGRON-5003
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26.

217.

28.

Directorate of Weed Science Research is

located at :

(A) Jabalpur
(B) Bhopal
(C) Delhi

(D) Karnal

Which one of the following pairs of

weeds and crops is not correctly

matched ?

(A) Striga— Sorghum

(B) Cuscuta— Lucerne

(C) Typha— Sugarcane

(D) Orobanche — Tobacco

An annual weed commonly found in rice

field is :

(A) Anagallis arvensis

(B) Echinochloa crusgalli

(C) Amaranthus spinosus

(D) Phalaris minor

Set-D



29. fr=forRad & @ @9-97 dST W el 29.  Which of the following is a broad leaved

TR & 7 weed ?

(A) e (A) Motha

(B) dYgam (B) Bathua

(C) WM (C) Doob grass
(D) SUgad JHI (D) All of the above

30. fAeAforRad # & BI9-91 V& @O Fg &1 30. Which one of the following is not a

Kharif season weed ?

GRUTIR T8I & ?

(A) IHCITSIH ToreH (A) Chenopodium album
(B) TAveN faRfsH (B) Amaranthus viridis

(C) SPISTIGAId DlcIH (C) Echinochloa colonum
(D) BIHIferT IR (D) Commelilla bengalensis

31. U Ui &l esﬁ Y W) efMoRe y4d & 31. The detrimental effect of one plant on

N S other plant is known as :

(A) TEEmIfea (A) Antibiotics
(B) WIEENIESH (B) Phytozoides
(C) RN (C) Marasmines
(D) Tferaruelt (D) Allelopathy

AGRON-5003 (12) Set-D



32.

33.

34.

AGRON-5003

frforRad § ¥ dH-1) WRudaR a5
@ I fafyy =8t 8 ?
(A) B i

(B) & IS
(C) WRYJARATEN BT TANT
(D) TSR BT YA

frafofed & 4 a9 e fgdomEd
GRUTIR T8I & ?

(A) BOIREHT

(B) WY

(C) @l

(D) AT

B Bl FfeiRad § 9 BIF-H araRer
4 WRUGIR YRR B e e
gl 8 ?

(A) S(HRUT H Uy Fae

(B) T 3faxel

(C) UG 3@wen

(D) URUFddr 3rawel

(13)

32.

33.

34.

Which is not a mechanical method of
weed control ?

(A) Hand weeding

(B) Hand hoeing

(C) Use of herbicide

(D) Use of weeder

Which one of the following is not a dicot
weed ?

(A) Hazardana

(B) Kharbathua

(C) Bathua

(D) Motha

Which of the following stages of a crop is

more prone to weed competition ?

(A) Germination to seedling stage
(B) Vegetative stage
(C) Reproductive stage

(D) Maturity stage

Set-D



35, WRUGIR 0F9 & dE-9 o 999 35. Which is the most effective method of

EEIGNICI weed control 7
(A) ifde fafy (A) Biological method
(B) &fvd faf (B) Cultural method
(C) I fafdr (C) Chemical method
(D) fRETE® fafy (D) Preventive method
36. CTSUGI=T SATSTR AT foham ST & 36. Triazines are mostly used in :
(A) i H (A) Barley
B) TEH (B) Wheat
(C) Gofed (C) Pulses
(D) | (D) Maize

37. fa=faRaq wmemeh & @ @9-91 vd 37. Which one of the following herbicides is

a selective herbicide ?

JIATHD A © ?

(A) Tl (A) Atrazine
(B) Rrade (B) Paraguat
(C) S (C) Diquat
(D) TAFBRIE (D) Glyphosate

AGRON-5003 (14) Set-D



38.

39.

40.

AGRON-5003

- Relfldd WRUTIR  H1 IETER
g ?

(A) S # g FT I

(B) g H FY3AT BT I

(C) o ¥ HrRI & I

(D) Suda Wl

gaRmer fufdifsar foa waa o awfea
g 7?

(A) FP

(B) g

€ =R

(D) EH

fdwa # Seufed gom el &

(A) 2, 43I

(B) RN

(C) TgwiH
(D) dFIA-S

(15)

38.

39.

40.

Which is the example of relative

weed ?

(A)  Wheat in barley

(B) Bathua in wheat

(C) Mothainrice

(D) All of the above

Imperata cylindrica is associated with

which crop ?

(A) Sugarbeet

(B) Tea

(C) Lentil

(D) Berseem

First herbicide produced in the world is :

(A) 2,4-D

(B) Simazine

(C) Atrazine

(D) Banavel-D

Set-D



41. f=faRed § 9 oF-91 ddedl Wudark 41, Which of the following is mimicry

37 weed ?
(A) Y3 (A) Bathua
(B) <9 °MN (B) Doob grass
(C) Hren (C) Motha
(D) ﬁi DT HH (D) Phalaris minor
42. T ol dlell ERYIN © 42. A weed that spreads Asthma is :
(A) DA (A) Colotropis
(B) urRIfATw (B) Parthenium
(C) ANT®=I (C) Opuntia
(D) ¥R (D) Satyanashi
43. geifod feeevmiRg (zh—quq ) 43. Parthenium hysterophorus (Congress
g N 5 grass) can be controlled by :
(A)  FRAHTe TR (A) Chrysomella spp.
(B) SACTZANUINT CIHE T (B) Dactylopius tomentosus
(C) SITITHITHT dTATDITRICI (C) Zygogramma biocolorata
(D) g@fear Wi (D) Neochetina spp.

AGRON-5003 (16) Set-D



44,

45.

46.

AGRON-5003

2, 4-31 ERUGIRATRN BT YA Sfferdar
fo W § o 8 7

(A) T H¥a

(B) 3T dTell Huai

(©) (A) 3R (B) 3

(D) SWE & W B &

ERYAIR I GRNIST &7 YIRT R arell
Yo T DI 7 ?

(A) A

(B) BT

(C) I T

(D) Hsd

ffoRad & 4 P9-91 UaEdss
g ?

(A)  DIfer

(B) St

(©) (A) 3R (B) 3

(D) SR

(17)

44,

45.

46.

2, 4-D herbicide mostly use in which

crop ?

(A) Pulses

(B) Cereals

(C) Both (A) and (B)

(D) None of the above

Who is the first person to use the

definition of weed ?

(A) Norman

(B) Helmont

(C) Jethro tull

(D) Mendel

Which one of the following is a

mycoherbicide ?

(A) Collego

(B) Devine

(C) Both (A) and (B)

(D) Bromacil

Set-D



47. ala'cﬁﬁ'\’ WNUAARATEN BT RCIE fg 47. Butachlor weedicide is mainly used in

B H TN fhar orar @ P which crop ?
(A) & (A) Rice
(B) g (B) Wheat
(C) TR (C) Lentil
(D) o (D) Chickpea

48. UD IMHARN U9d &) SURf &1 feiRor 48. A testing method using organism to

B D T ST BT SN B aTell U determine the presence of a herbicide
effect is called :

e fAfey g ¢

(A) VIRE (A) Bioassy

(B) M fawersor (B) Herbicide analysis

(C) af¥g=ro (C) Biocontrol

(D) SUYa H H IS Tl (D) None of the above

49 Il @‘rﬂé JMAR W WWIAAR] Pl 49. Blind tillage is normally practised to

g oo @ ]%N 2 o & control weeds in :

(A) fERE 9o B | (A) Scatter planting crop
(B) 3FSI AT HHa H (B) Ring planting crop
(C) Ufdd 9vT B H (C) Row planting crop
(D) Sugad FI (D) All of the above

AGRON-5003 (18) Set-D



50.

Y

52.

AGRON-5003

Ffoiad § & I9-A1 WRUGIR DR
I & forg ST fobam S @ 2

(A) TG BT A

(B) eI

(©) FIergHA

(D) YT

P PR TSN & Wy B forg
A U g ?

(A) =T

(B) el

(C) R

(D) AREH

TASHINIC fhd YR BT WRYJIRATI & ?
(A) TOTHS RIFRIRG

(B) 3IARUTHG FqeN

(C) 3FRUTHEG RIFING

(D) SWad # | BIS T

(19)

50.

51.

52.

Which of the following weeds is used for

compost making ?

(A) Phalaris minor

(B) Lantana

(C) Water hyacinth

(D) Bathua

Which crop is an indicator plant for the

bioassay of Atrazine ?

(A) Sugarcane

(B) Seshania

(C) Sorghum

(D) Soybean

Glyphosate is which type of herbicide ?

(A) Selective translocated

(B) Non-selective contact

(C) Non-selective translocated

(D) None of the above

Set-D



53. A fhd gl § TR 7§ ? 53.  Motha is related to which family ?

(A) W (A) Euphorbiaceae
(B) AU (B) Cyperaceae
© HHEIRTS (C) Compositae
(D) BiFaegerd! (D) Convolvulaceae
54. ‘%ﬁ'@ﬁ’ WRYGIR BT Jsifd 9 ¢ 54. Scientific name of the ‘Hirankhuri’ weed
IS :
(A) BITATgerd JATa~ad (A) Convolvulus arvensis
(B) TAIMT BT (B) Avena fatua
(C) HIgUd NcTsd (C) Cyperus rotundus
(D) TRANT AT (D) Vernonia cinera

55. fbg UeR BT Il ¥4 diul @ 9] 55.  Which type of herbicide kills all the

S plants ?

(A) INUMHD (A) Selective

(B) JdRUMTHD (B) Non-selective

(C) (A) Td (B) I (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above

AGRON-5003 (20) Set-D



56. TR ATSR BT WU 9R § : 56. Test weight of Phalaris minor is :

(A) 2 I (A) 2gm
(B) 10 IM (B) 10gm
(C) 15 I (C) 15gm
(D) 20 IM (D) 20gm

57. ‘SfSIT WM B dre AT fhdd gN 57. ‘Indian Journal of Weed Science’ is

R B = 7 published by :
(A) 3feT ANEd o de wEd (A) Indian Society of Weed Science
(B) IS CaIaral (B) Weed Technology
(C) cifidd dre Red (C) Tropical Weed Research
(D) Suga H A Bl 7Tl (D) None of the above
58. 3TN WRUGAR & : 58.  Noxious weeds are :
(A) IS (A) Undesirable
(B) dxUq (B) Troublesome
(C) Faf=d o gRed (C) Difficult to control
(D) Suga Tl (D) All of the above

AGRON-5003 (21) Set-D



59. FCIIAR TR TR T : 59. Butachlor herbicide belongs to :

(A) R E (A) Urea
(B) TS (B) Amide
C) I ¥ (C) Uracils
(D) W ¥ (D) Phenols

60. 2, 43 BT 1945 $ IRM J TH U H 60 2, 4-D was developed during 1945 in

foree g1 fawRa foar T o ? U.S. Aby:

(A) U1 Sy, PR (A) P.W. Zimmerman
(B) U % feudi® (B) A.E. Hitchkock
(©) (A) 3R (B) T (C) Both (A) and (B)
(D) Suga H A Bl el (D) None of the above

AGRON-5003 (22) Set-D
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § grfd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©

TSI IR AT U IR I8 PIeT AT 98a T
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